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2.Blocks of mass m and 2m are connected by a strmq(qu 1) If the force are

constant F=a, the tension in the connecting string = e
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4. A force acts on a particle of mass m in such a way that its speed v increase

with dlstance X as v=CXx,where C is a constant. The work done by the force N
moving the particle from x=0 to x=x, is '
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G.Four particles of mass m are connected by massless rod(&“i‘%ﬁﬂ’]ﬁ)to form
a rectangle of sides 2a and 2b as shown in Fig.3. The system rotates about an
axis in the plane of the figure throuqh the center. Moment of mertld(i,h%blg )is

equalto o
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10.A point charqe of ~oC is located at X=4m,y=-2m.A second point charge of

12uCis located at x=1m y=2m. The electric field (@}gjvj\;fuj“m atl x=- 1m,y=0'_
is equal to Vi/m |
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15.A charge q= -3.64nc¢ mownq with a velocity of 2. 75}(10 m/s x AT the

magnetic field B 0.75Tk+O0. 75TJ, The force(jf)on the charge is N. -
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T7. W{zm%{V(x) 100\/ (25V/m)x,gai%w§3ﬁE(x)=____ W/

;;f"'p,m"m"cgm ”nm'.-.'IO_?m' - I(‘Zoulamb constant k=9x10?Nm2/_Cf

' Grawtatlonal constant G 6.6 7X1 O Nm/Kq,_EjjjJ[}E B g=9.8m/s*
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